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Solve the equation y"— 6"+ 9y =—by the method of variation of parameters cor L3
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Solve the equation —5+3——+2y=l+3x+x",
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Solve the equation (D7 — 4D + 4)y = §(e™ + sin x).

dy_

Solve the equation —5

coefficients.

Solve the equation (2x+3) ¥ "= (2x+3) ¥ =12y = 6x.
Solve the equation x* ¥"+3x"v"+x0" + By = 65Cos(log x).

Solve the equation xyp” + p(3x” — 2y°) — 6xy

Solve the ecLuatlon (pk — v)ipy + x) = 2p by reducing it into Clairaut’s form

taking X =x“and Y =y".

Solve the equation (D2 - 4D+ 4)y = SL'E::" = 5in x).

)
Solve the equation g

coefficients.

Solve the equation (2x+3)° »" = (2x+3)1 =12y = 6x.
Solve the equation x* " +3x"y"+xp" + 8y = 65 Cos(logx) .

Solve the equation  xyp” + p(3x" = 2y) — 6xy = 0.

Solve the ﬁquatmn (px — ¥)py + x)

taking X =x"and Y =y°,

+2y x'+ e’ by the method of undetermined

a’yu

3 i+ 2y=x"+¢" by the method of undetermined

= 2p by reducing it into Clairaut’s form
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